CS 325 Quiz 5, 3/2/09
1. Design an E-R model to organize a beer drinkers database.  Drinkers have a name, address, and SS#.  Beers have a name, price and beer#.  Bars have a name, city, and license#. You wish to track which drinkers like which beers, which drinkers frequent which bars, and which bars serve which beers. Identify the primary keys by underlining. Indicate on your diagram whether each relationship is 1-1, 1-many, many-1 or many-many. 











2. Beers are further designated as imported or domestic with imported specifying the country and supplier, domestic specifying  state of origin. Expand your entity for beer to incorporate this.







3. Convert the diagram in problem 1 to tables.

drinker(SS#, name, address)
beer(beer#, name, price)

bar(license#, name, city)
frequents(SS#, license#)

drinks(SS# , beer#)

sells(beer#, license#)
If including 2 add:

domestic(beer#, state)

imported(beer#, country, importer)

BUT: they are disjoint, so replace 

beer(beer#, name, price)

by

domestic(beer#, name, price, state) and

imported(beer#, name, price, country, importer)
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